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6O><(5><2 + 3)3



. y [ dy
4. fsuald y = V3x -2 som —

dx
ad o =\ v 4
A5 AR u = 3x -2
!
fr9Ti y = u’
1
L v dy -
nngantgazlea — = — ) —3x"-2)
dx du dx
1 - !
= (—u *)-(-12x7)
a
3><3
B e
ull
?>x3
a4 (—3)(4— 2)3
5. MNRUAM f(x) = \/2x2+ 342 qwn 1)
ad o a\ v 2
3591 AUNALA u = 2X +3x+ 2
!
Aatiu y = u?
1
nnnganigazla o = — () —(2x"+ 3x + 2)
dy dx
1
= (—u 2)-(4x + 3)
2
ax + 3
22 + 3x + 2
/ -4+3
f(-1) =

24/2-3+2

N | —



WRALUUHNTINGY 7.2

. dy
LA y = 3+ 1)(4x"-3)" e —
dx
W oan = 3+ D(ax - 3)°
d d d
e 2 - 3+ 1)—(ax - 3)" + (ax*-3)" — (3 + 1)
dx dx dx
= (3 + 1@)ax" - 3)°(-8%) + (-ax° - 3)" (9x°)
= 33+ 1)(-0x° - 3) 4 9 (-ax - 3)"
= x(ax’-3)’ |:—32(3><3+ 1)+ 9x(-ax - 3)]
= x(-ax"-3)’(-96x - 32 - 36x - 27X)
= x(4x"-3)° (132 - 32 - 27%)
. <+ ) dy
2. ANNUA y = . YPQWHN1T —
3x -2 dx
. oC+ a)
I Ny = -
23X -2
d d
dy Bx - 2)— 6+ 8) -+ 8)° —(3x* - 2)
wldh — - -
dx (3x -2)

Bx - 2B+ 8 (3 ) - (¢ + 4) (12)

(3x4— 2)2
155" (3% - 20 + )" - 12 (" + 4)°

(3x"- 2)°
2 3 q I: q 3 ]
3 (X +4) | 5(3x -2)-ax(x + 4)

(3x"-2)°



3 (x+ 4)° |:(15><4— 10) - (ax" + 16x)]

(3><4— 2)2
3+ 4) (11x" - 10 - 16%)
(3><4— 2)2

o 5 ¢ dy
3.MNUA y = ((x +5) —1) WM —
dx

ad o 5 ¢

W/ Ny = ((x +5) —1)

d 3
e =2 - 4<(>< +5) —1) (5(>< + 5)“)

dx
- 20(x + 5)° ((x +5)° —1)3

4. e ) = (x+x2 )1 +x°)° a9 (1)

B n v = x+x )1 +x)°

d d
X+ ) —A+5 ) 0 +x) —x+x)
dx dx

agly

- X+ )2+ )3 )+ +x)° (1 + 29

- 6x (X +x )1+ )+ (1 +x)°( + 2%

g f) = 61+ D1+ 1D+ +1D°0+2)
_ 6(2)(2) + (2)° (3)
= 24 + 12

= 36



5. mMuua fix) =

A 0w

agly

X+ 2

(3x - 4)°

g ) =

aam (1)

, d d
Bx-4) —x+2)-(x+2)—03x-

dx dx

((3x - q)° )2

Bx - )’ (1) - (x + 23)3x - 4)°(3)

((3>< - q)’ )2

3x - 4)° - 9(x + 2)(3x - 4)°

((3x - gy’ )2

(3-4)° -9(1 + 2)3 - 4’

(6 )

(-1)° - 9(3)-1)°




